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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)
(ii)

(iii)

(iv)

(v)

(v)

This question paper consists of 39 questions. All questions are compulsory.

Question paper is divided into FIVE sections viz. Section A, B, C, D
and E.

In Section A - question number 1 to 20 are Multiple Choice Questions

(MCQs) carrying 1 mark each.

In Section B - question number 21 to 26 are Very Short Answer (VSA)
type questions carrying 2 marks each. Answer to these questions should

be in the range of 30 to 50 words.

In Section C - question number 27 to 33 are Short Answer (SA) type
questions carrying 3 marks each. Answer to these questions should be in

the range of 50 to 80 words.

In Section D - question number 34 to 36 are Long Answer (LA) type
questions carrying § marks each. Answer to these questions should be in

the range of 80 to 120 words.

(vit) In Section E - question number 37 to 39 are of 3 source-based/case-based

units of assessment carrying 4 marks each with sub-parts.

(viit) There is no overall choice. However, an internal choice has been provided

31/1/1

in some Sections.
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SECTION - A

Select and write one most appropriate option out of the four

options given for each of the questions 1 - 20 :

1. In the experimental setup given below, it is observed that on passing the

gas produced in the reaction in the solution ‘X’ the solution ‘X’ first turns

milky and then colourless.
Dilute
Hydrochloric Acid =
> :ﬁSodium
carbonate

The option that justifies the above stated observation is that X’ is aqueous

calcium hydroxide and

(a) it turns milky due to carbon dioxide gas liberated in the reaction and
after sometime it becomes colourless due to formation of calcium
carbonate.

(b) it turns milky due to formation of calcium carbonate and on passing
excess of carbon dioxide it becomes colourless due to formation of
calcium hydrogen carbonate which is soluble in water.

(¢) it turns milky due to passing of carbon dioxide through it. It turns
colourless as on further passing carbon dioxide, sodium hydrogen
carbonate is formed which is soluble in water.

(d) the carbon dioxide liberated during the reaction turns lime water milky
due to formation of calcium hydrogen carbonate and after some time it
turns colourless due to formation of calcium carbonate which is soluble
in water.

3 5 -2 P.T.O.
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(c) oIS TEee o 3= g o g 3amse 3Tt AT8e o SI33TiaTEs ohd & |

(d) e 1ELL 1 3u=EA & e oig sAfaumee 3R srieefis el 2§ |

MnO,, + x HC/ - MnCl, + y H,0 + z CI,
mmmﬁﬁﬂ%ﬂﬁ%mx,yﬁz%qﬁ@ﬁaﬁqm:

(a) 6,2,2 (b) 4,1,2

© 4,2,1 d 2,21

F= @ it wroft § =R fafie faeemt % pH 3R 36! Wi (3Tt /&) % aR
o1 § A 2 | 59 ARl o1 i A faesher 9 B 7

fererea IEERC pHw® | pH& AR aA | oA
w LEil
(a) Hfig 1™ Tt 3 HTh I
(b) | Tirees 317w Bfifdrn Frem 10 R
©) SEIEC] SIS] 6 A
(d) 3G A et 7 3eTEHA

. Toreft amg X o1 3w rfife wshm  fomen STTaT ® | ST9 X o AT H ST ST @ o sed

I3 WG] HfeEmEe Y TH Bl & | X 3R Y A 7
(a) Fe 3R Fe,0, (b) Al 3R ALO,
(c) Fe 3 Fe,0, d) AlIRALO,

31/1/1 —3— 6 -3~



2.  The emission of brown fumes in the given experimental set-up is due to 1
N
Brown — % \
fumes

Lead nitrate

Burner

(a) thermal decomposition of lead nitrate which produces brown fumes
of nitrogen dioxide.

(b) thermal decomposition of lead nitrate which produces brown fumes
of lead oxide.

(¢) oxidation of lead nitrate forming lead oxide and nitrogen dioxide.

(d) oxidation of lead nitrate forming lead oxide and oxygen.

3. MnO,+xHC/— MnCl,+y H,0 +zCl, 1

In order to balance the above chemical equation, the values of x, y and z
respectively are :

(a) 6,2,2 (b) 4,1,2

) 4,2,1 @ 2,2,1

4. The table below has information regarding pH and the nature
(acidic/basic) of four different solutions. Which one of the options in the

table is correct ? 1
Option Solution Colour of | Approximate | Nature of
pH paper pH value solution
(a) Lemon juice Orange 3 Basic
(b) Milk of magnesia Blue 10 Basic
(c) Gastric juice Red 6 Acidic
(d) Pure water Yellow 7 Neutral
5. A metal X is used in thermite process. When X is burnt in air it gives an
amphoteric oxide Y. X’ and Y’ are respectively : 1
(a) Feand Fe,O, (b) Aland Al,O,
(¢0 FeandFe,O, (d AlandAlO,

31/1/1 == T =2~ P.T.O.



6. Tr=fefiaa o & 91 %1 drer g : 1
(a) NaHCO, () Na,CO,.5H,0
(¢ Na,CO,.10H,0 (d NaOH

7. I & w7 IhE wEA-Af A, B 3R C FH wEae | feEr fifve e

Freafefaa o & wet foshea =1 g : 1
H H
H\C C/H
H\C C/H
A g~ ~H (B) H—C c—H
C C
o | \\H C C
H H g’ g
H
H\\c M
(C) H—C C—H
C C—
1/ v
H

(a) A 3R C g % GUEId & adT B a1 & |

(b) A T 1 gHEEE 2, B S 2 7T C 2o 1 qHe¥E 2 |
(¢) A T =shid EEgIhTeH g aUT B 31K C 3T8qH =3hI gRgihTe & |
(d) A Hrgaciieddd g 9U1 B 311 C sS4 & gared 2 |

8. g Siia S WISY Uer w1 farere it o oTeL 2 ot &d1 B 3T dd IHeh! ST Al g,

HEEE ? 1
(a) UTEH T, STHREE (b) = TSI, iR i
(c) fa, TEsieRM (d) e, TSI
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6. Select washing soda from the following : 1
(a) NaHCO, (b) Na,CO,.5H,0
(¢ Na,CO,.10H,0 (d NaOH
7. Consider the structures of the three cyclic carbon compounds A, B and C
given below and select the correct option from the following : 1
H H
3 L
H H
¢ o
H H
@) 5 ~H @ ®  g—c o
C
H| | SH C G
H H H/ \H
\
H
H & o
(C) H—C C—H
C C—y
n’ \
H

(a) A and C are isomers of hexane and B is benzene.
(b) A 1is an isomer of hexane, B is benzene and C is an isomer of hexene.

(¢) A is a saturated cyclic hydrocarbon and B and C are unsaturated
cyclic hydrocarbons.

(d) Ais cyclohexane and B and C are the isomers of benzene.

8. An organism which breaks down the food material outside the body and

then absorbs it is 1
(a) aplant parasite, Cuscuta (b) an animal parasite, Tapeworm
(¢) a bacteria, Rhizobium (d) a fungi, Rhizopus

31/1/1 —3= 9 -2 P.T.O.
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9. g o forera o 9 feu 7w el wt form AT 3t 37 | 39 e w1 g S wet 7
2

(a) g H g I aETg he-Re gt 8 Jith 98 3 gRI WY S a7l 9isy
Terf % JehR T Freft et B |

(b) R[5 WIS U o i UTe 1 T R |
(c) 5T e (Iha) T TR T | T80 HL 2 |

(d) 25 % S TTeT g IRR & STeX fopT T | g form o= fie | et <Rl Srantya
AT |

10. fr=fafad 3 @ a5 %o e s fret S % oteror =1 ot vl s g
(a) Tomeft & roft wefinfist Y safy & fopeft foreiw Tpore w AT fafsre S fem gran 2 |
(b) Tomeft mifarehT & IR s o ot S TS ga Ea TE # |
(c) T TUTEH T 3Eeh! SATEITS o T heed Teh S foud B 2 |
(@) T E aeft ST e S gr b T Ea E

11. fr=forfaa o & o s g 1 diei 3 srgedHi fa & fu ad 2
(a) I8 T S ATT & I & HRIT BN 2 |
(b) IE ITH B ot Ie1a <hi e ow feft i et 2
(¢) F8hae STl § fem@té Teft & ot 3 74 |
(d) =5 gfg & defera Bt R |

12. Frferfga 5 & TeTd et (I1eY TR I8eh HTTeh AT o He) ! g :
(a) ST, ol (b) 3T, A
(¢) wHiwTe, T (d) T, S
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9. Consider the following statements about small intestine and select the
one which is NOT correct : 1
(a) The length of the small intestine in animals differs as it depends on
the type of food they eat.
(b) The small intestine is the site of complete digestion of food.
(¢) The small intestine receives secretions from liver and pancreas.
(d) The villi of the small intestine absorb water from the unabsorbed

food before it gets removed from the body via the anus.

10. The statement that correctly describes the characteristic(s) of a gene is : 1
(a) In individuals of a given species, a specific gene is located on a
particular chromosome.
(b) A gene is not the information source for making proteins in the cell.
(c) Each chromosome has only one gene located all along its length.

(d) All the inherited traits in human beings are not controlled by genes.

11. Select from the following the correct statement about tropic movement in
plants : 1
(a) It is due to stimulus of touch and temperature.
(b) It does not depend upon the direction of stimulus received.
(¢) It is observed only in roots and not in stems.

(d) Itisagrowth related movement.

12. Select the INCORRECT match (between the plant and its vegetative part)

from the following : 1
(a) Bryophyllum, leaf (b) Potato, stem
(¢) Money-plant, stem (d) Rose, root

31/1/1 == 11 -2 P.T.O.
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(a) 32 b)) 2
(© 0.5 (d) 16

14. =X fogga ufweri § 15 A 91 3799A™6 & aRI 1 399 3A faega Ihwai & o 2 g,
et
(a) S b IS BaT & S T |
(b) e wifep Srgea BT & S T |
(c) 3TmaRor enfees qen f wifeh sTgAaTe BIaT 2 |
(d)  FTTeRor srefedes a3 St STHaT BraT ¢ |

15. == feu v s 7 et dieediex & Tum w g 1 feufa qunet mwft & | Seatfie &
YA 3TR 3HhT UTSATeh SHU: & :

1.5
0 3
\Y%
(a) 0.15V3R16V b) 0.05V3IAT16V
(¢ 0.15V3R18V (d 0.05V3T18V

16. < TAR ari, S &fasta: e & qun fe v 3 #18 wmf g [ vyerfed 21 @R, %
= o ferq fereft fomg P o aftomeft grarhier &=
A > B

.

C > D
(a) 3t feum o gran 2 forad om0 yanfea 1 @ 2 |
(b) AT FRH AL BT R |
(¢ YIATAE |
(d) AR 6 AREATR |
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13. If four identical resistors, of resistance 8 ohm, are first connected in series

so as to give an effective resistance R, and then connected in parallel so

as to give an effective resistance Rp, then the ratio R_S is 1
P

(a) 32 (b) 2

(¢ 0.5 d 16

14. In domestic electric circuits the wiring with 15 A current rating is for the
electric devices which have 1
(a) higher power ratings such as geyser.
(b) lower power ratings such as fan.
(c) metallic bodies and low power ratings.
(d) non-metallic bodies and low power ratings.

15. In the following diagram, the position of the needle is shown on the scale
of a voltmeter. The least count of the voltmeter and the reading shown by

it respectively are : 1
1.5
0 3
A%
(a 0.15Vand16V (b) 0.05Vand1l6V
(¢) 0.15Vand 18V (d 0.05Vand 18V
16. The resultant magnetic field at point ‘P’ situated midway between two
parallel wires (placed horizontally) each carrying a steady current I is 1
A > B
of
C > D

(a) in the same direction as the current in the wires.
(b) in the vertically upward direction.

(c) zero

(d) in the vertically downward direction.

31/1/1 == 13 -2~ P.T.O.
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19.

20.
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9 T 17 | 20 SAferem — ShRoT o e av E ;
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(@) (A) 3R (R) <H T2 2 79T (R) 3R (A) 1 HEt AR AT R |

(b) (A) 3R (R) S HE1 &, W (R) FHI (A) b1 &eft el e &1 1 % |

© AT, TR TR |

(d) (A) T B, T (R) TR |

fTHUT (A) : I FHIR Tohe & Toild fIeo T T8 HT g el ST IIal 7, al
[ENRERYGERIEICIN

RO (R) ;S hl qor U og Al sflramiia 2, 3 I8 Sia B 3Tk
T forere & fereenfiq A gaT 2 |

AR (A) : SHehT 8 F9IRTd <4 T1g] o1 fom i@ e 2 |
FROT(R) W8 X orgs foan @ sema g £ |

FANTHRUT (A) : BT HT U1 =4 H (T hHY 7Ty g1 & s BT 2 |
HROT (R) ;3R o7 Rl 3R T SRA-TAAT 3R Tod BeR hifren1sT 6l Sufeafa &

HNU SAATE |

aftrrer (A) : forth aTreTel SRR Hueet % g W I rehid & i dterern
Fusell § %l <l TE ¥ gfg B W, gfg 7§ |

HROT (R)  : FUSel o T B H farega 9 o yarg <t feen aum gt & 3ra: =afema
W1 o TEEhHTY &1 TR Bl SI1d 2 |
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17.

18.

19.

20.

31/1/1 == 15 -2~ P.T.O.
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Q. Nos. 17 to 20 are Assertion — Reason based questions.

These consist of two statements — Assertion (A) and Reason (R). Answer
these questions selecting the appropriate option given below :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).

(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

Assertion (A) : The colour of aqueous solution of copper sulphate turns
colourless when a piece of lead is added to it.
Reason (R) : Lead is more reactive than copper, and hence displaces

copper from its salt solution.

Assertion (A) : Genes inherited from the parents decide the sex of a
child.

Reason (R) : X chromosome in a male child is inherited from his father.

Assertion (A) : Blood clotting prevents excessive loss of blood.
Reason (R) : Blood clotting is due to blood plasma and white blood cells
present in the blood.

Assertion (A) : The strength of the magnetic field produced at the centre
of a current carrying circular coil increases on increasing the number
of turns in it.

Reason (R) : The current in each circular turn has the same direction

and the magnetic field due to each turn then just adds up.
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21. (a)

(b)

22. (a)

(b)

23. (a)

(b)
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SECTION - B
Q. No. 21 to 26 are very short answer questions.
21. (@) (1) A compound X which is prepared from gypsum has the
property of hardening when mixed with proper quantity of
water. 2
Identify X’ and write its chemical formula.
(i) State the difference in chemical composition between baking
soda and baking powder.
OR
(b) Write balanced chemical equation for the reaction that occurs when : 2
(1) Dblue coloured copper sulphate crystals are heated and

(1) Sodium hydrogen carbonate is heated during cooking.

22. (a) Write the role of insulin in regulating blood sugar levels in human
body. Mention the disease caused due to it. 2
(b) How is the timing and the amount of release of insulin in the blood

regulated ?

23. (a) Name the type of blood (oxygenated / deoxygenated) transported by
each of the following mentioning the path (i.e. from one organ (which
place) to another (which place)). 2
(1) Vena cava
(11) Pulmonary artery

OR
(b) With the help of a schematic flow chart, show the breakdown of

glucose in a cell to provide energy — 2
(1) in the presence of oxygen
(11) in lack of oxygen

31/1/1 == 17 -2~ P.T.O.
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24. Name the part of the human excretory system where nephrons are found.

Write the structure and function of nephrons. 2

25. (a) A narrow beam XY of white light is passing through a glass prism
ABC as shown in the diagram : 2

A

X B C Q

Trace it on your answer sheet and show the path of the emergent

beam as observed on the screen PQ.
Name the phenomenon observed and state its cause.
OR

(b) It is observed that the power of an eye to see nearby objects as well

as far off objects diminishes with age. 2
(1) Give reason for the above statement.

(i) Name the defect that is likely to arise in the eyes in such a

condition.

(i11) Draw a labelled ray diagram to show the type of corrective lens

used for restoring the vision of such an eye.

26. How do harmful chemicals get accumulated progressively at each trophic

level in a food chain ? 2

31/1/1 == 19 - P.T.O.
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(@)

(b)

(a)

(b)
(@)

(b)

(@)

(b)
©
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fra & meft srfirferanatt O ol were weEnfaT

() 4NH, + 50, - 4NO + 6H,0

(i) H,0+F,— HF + HOF

(iii) Fe,O,+3CO — 2Fe + 3CO,
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SECTION - C

Q. No. 27 to 33 are short answer questions.

27. (a) Identify the reducing agent in the following reactions : 3
(@) 4NH,+ 50, - 4NO + 6H,0
@) H,0+F,— HF + HOF
@(iii) Fe,O,+ 3CO — 2Fe + 3CO,
@v) 2H,+ O, - 2H,0
(b) Define a redox reaction in terms of gain or loss of oxygen.

28. (a) Suggest one remedial measure each to counteract the change in pH
in human beings in following cases : 3
(1) Production of too much acid in stomach during indigestion
(1) Stung by a honey bee / nettle leaves
(b) Fresh milk has a pH of 6. When it changes into curd will its pH
increase or decrease ? Why ?

29. (a) (1) State the role of ATP in cellular respiration. 3
(i1) What ensures sufficient exchange of gases in plants ?
(ii1) State the conditions on which the direction of diffusion of gases
in plant depend upon.
OR
(b) (1) What is the internal energy reserve in plants and animals ?
(i) How desert plants perform photosynthesis if their stomata

remain closed during the day ? 3
30. (a) Complete the following ray diagram to show the formation of image : 3
A Ray 1
Ray 2 ~~———
B P R C
Object

(b) Mention the nature, position and size of the image formed in this
case.
(c) State the sign of the image distance in this case using the Cartesian
sign convention.
31/1/1 3 21 -2~ P.T.O.



31. fr=fafgd < fore sror s

(a)
()
(©

32. (a)

(b)

33. (a)

(b)

31/1/1

FATE ITE] AUT el WaHT oh IS T o WR o el 1 TTh B & |
STcfereh 3eTs W 33 T8 AR oY STIeBTSN It Sl BT § |
STeTgEt el B ToRe aTel TehTeT §of o1 9l g3 BT B |

() TEehia & | foud et aRETE! =Tt W o 9Tt 9t 61 feen 3
a1t Forerm 1 fafta
(i) = @ M fey o E o ek & # frtt soee ®1 Tew S
fogmn T 2 | 3T @ 98 T e fEH S W o STl 9o
SHAT: (1) SAfereham 3R (2) Frraw B | 3199 33 & forw swror i |
BN

N

1 = &

@ (ii) (iii)
JAUAT
() e feu e e | ek & W@ w1 ded witaw
(1) YTETE! gt
(2) TEIEH
(i) 3 S IR &1 & o g fadeTeh Rl ST Y T ST |

TR
&

N v Vv

() foret o] i (fopem €)1 P wifas w4t et ST @ Sfe o
(STTET) T SITehfcreh AT HIAT ST & 2
(i) =R R freft Hhm (wma Ffda) wias 6t strfisper s amg 3 fedl @
STAT T HRUT Tied Sooi HITTT ST I8 Taf-aig qTids § aRafdd s Thd & |
T
() Treferiaa = aftferd std gu o e & 1 STTER FEe SR ;
o, 94, WY, g7

(i) 3eaTEehl g gER Il T W el % 1Y 20,000 J St wrEaie
2 | ol shl 37 U b1 Uieherd shifore 5 e ot ww 6 Sfel gro =g
e} & o el o feru wemAT=aia foman stmam |

. .
3= 22 -3



Ik
[
31. Give reasons for the following : 3
(a) Danger signals installed at airports and at the top of tall buildings
are of red colour.
(b) The sky appears dark to the passengers flying at very high altitudes.
(¢) The path of a beam of light passing through a colloidal solution is

visible.

32. (a) () State the rule used to find the force acting on a current carrying
conductor placed in a magnetic field. 3
(i1) Given below are three diagrams showing entry of an electron in
a magnetic field. Identify the case in which the force will be
(1) maximum and (2) minimum respectively. Give reason for
your answer.

Elef:\tron Electron
é 7
Magnetic Magnetic > Electror>1 Magnetic
field field field
[ S >
@ (i1) (iii)
OR
(b) (@) Draw the pattern of magnetic field lines of 3

(1) a current carrying solenoid
(2) abar magnet
(11) List two distinguishing features between the two fields.

33. (a) (@) Why does a kitchen garden called an artificial ecosystem while
a forest is considered to be a natural ecosystem ? 3

(i) While designing an artificial ecosystem at home, write any two
things to be kept in mind to convert it into a self-sustaining
system. Give reason to justify your answer.

OR
(b) @) Construct a food chain of four trophic levels comprising the
following : 3
Hawk, snake, plants, rat.

(i) 20,000 J of energy was transferred by the producers to the
organism of second trophic level. Calculate the amount of
energy that will be transferred by organisms of the third trophic
level to the organisms of the fourth trophic level.

31/1/1 —3— 23 -2~ P.T.O.
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SECTION -D

Q. No. 34 to 36 are long answer questions.

34. (a) A saturated organic compound ‘A’ belongs to the homologous series of

(b)

31/1/1

alcohols.

On heating ‘A’ with concentrated sulphuric acid at 443 K, it forms an

unsaturated compound ‘B’ with molecular mass 28 u.

The compound ‘B’ on addition of one mole of hydrogen in the

presence of Nickel, changes to a saturated hydrocarbon ‘C’.

®
(i)

(ii1)

@iv)
\

(i)

Identify A, B and C.

Write the chemical equations showing the conversion

of A into B.
What happens when compound C undergoes combustion ?
State one industrial application of hydrogenation reaction.

Name the products formed when compound A reacts with

sodium.
OR

With the help of diagram, show the formation of micelles, when
soap is applied on oily dirt.
Take two test tubes X and Y with 10 mL of hard water in each.

In test tube X', add few drops of soap solution and in test tube
Y’ add a few drops of detergent solution. Shake both the test

tubes for the same period.

(1) In which test tube the formation of foam will be more ?

Why ?

(2) In which test tube is a curdy solid formed ? Why ?

—3— 25 -3 P.T.O.
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35. (a) Name the parts of a bisexual flower that are not directly involved in
reproduction. 5
(b) Differentiate between self pollination and cross pollination. List any

two significance of pollination.

(¢) What is the fate of ovules and ovary after fertilization in a flower ?

36. (a) An electric iron consumes energy at a rate of 880 W when heating is
at the maximum rate and 330 W when the heating is at the
minimum. If the source voltage is 220 V, calculate the current and
resistance in each case. 5
(b) What is heating effect of electric current ?
(¢) Find an expression for the amount of heat produced when a current

passes through a resistor for some time.

SECTION - E
Q. No. 37 to 39 are case based/data based questions with 2 to 3 short

sub-parts. Internal choice is provided in one of these sub-parts.

37. Almost all metals combine with oxygen to form metal oxides. Metal oxides
are generally basic in nature. But some metal oxides show both basic as
well as acidic behaviour. Different metals show different reactivities
towards oxygen. Some react vigorously while some do not react at all.
(a) What happens when copper is heated in air ? (Give the equation of
the reaction involved). 1
(b) Why are some metal oxides categorized as amphoteric ? Give one
example.
(¢) Complete the following equations : 2
(@ Na,0 +H,04 —>
(i) ALO,+2NaOH —
OR

31/1/1 =3 27 -2~ P.T.O.
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(¢) On burning Sulphur in oxygen a colourless gas is produced. 2
(1) Write chemical equation for the reaction.
(i) Name the gas formed.

(i11) State the nature of the gas.

(iv) What will be the action of this on a dry litmus paper ?

38. In order to trace the inheritance of traits Mendel crossed pea plants
having one contrasting character or a pair of contrasting characters.
When he crossed pea plants having round and yellow seeds with pea
plants having wrinkled and green seeds, he observed that no plants with

wrinkled and green seeds were obtained in the F, generation. When the
F, generation pea plants were cross-bred by self-pollination, the F,
generation had seeds with different combinations of shape and colour also.

(a) Write any two pairs of contrasting characteristics of pea plant used

by Mendel other than those mentioned above. 1
(b) Differentiate between dominant and recessive traits. 1
(c) State the ratio of the combinations observed in the seeds of F,

generation (in the above case). What do you interpret from this

result ? 2

OR

(¢) Given below is a cross between a pure violet flowered pea plant (V)
and a pure white flowered pea plant (v). Diagrammatically explain

what type of progeny is obtained in F, generation and F, generation :

Pure violet flowered plant x Pure white flowered plant. 2

VV) v v)

31/1/1 =3 29 - P.T.O.
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39. Hold a concave mirror in your hand and direct its reflecting surface
towards the sun. Direct the light reflected by the mirror on to a white
card-board held close to the mirror. Move the card-board back and forth
gradually until you find a bright, sharp spot of light on the board. This
spot of light is the image of the sun on the sheet of paper; which is also
termed as “Principal Focus” of the concave mirror.
Concave mirror
N %
~—<_FO

vl

Principal Focus

(a) List two applications of concave mirror.

(b) If the distance between the mirror and the principal focus is 15 cm,

find the radius of curvature of the mirror.

(¢) Draw a ray diagram to show the type of image formed when an

object is placed between pole and focus of a concave mirror.
OR

(¢) An object 10 cm in size is placed at 100 cm in front of a concave
mirror. If its image is formed at the same point where the object is

located, find :
(1) focal length of the mirror, and

(1)) magnification of the image formed with sign as per Cartesian

sign convention.

31/1/1 —3— 31 -2
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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)
(ii)

(iii)

(iv)

(v)

(v)

This question paper consists of 39 questions. All questions are compulsory.

Question paper is divided into FIVE sections viz. Section A, B, C, D
and E.

In Section A - question number 1 to 20 are Multiple Choice Questions

(MCQs) carrying 1 mark each.

In Section B - question number 21 to 26 are Very Short Answer (VSA)
type questions carrying 2 marks each. Answer to these questions should

be in the range of 30 to 50 words.

In Section C - question number 27 to 33 are Short Answer (SA) type
questions carrying 3 marks each. Answer to these questions should be in

the range of 50 to 80 words.

In Section D - question number 34 to 36 are Long Answer (LA) type
questions carrying § marks each. Answer to these questions should be in

the range of 80 to 120 words.

(vit) In Section E - question number 37 to 39 are of 3 source-based/case-based

units of assessment carrying 4 marks each with sub-parts.

(viit) There is no overall choice. However, an internal choice has been provided

31/1/2

in some Sections.
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SECTION - A

Select and write one most appropriate option out of the four

options given for each of the questions 1 - 20 :

Consider the structures of the three cyclic carbon compounds A, B and C

given below and select the correct option from the following :

H H
N
H H
¢ o
H\C C/H
A v~ ~~SH B) H—C C—H
C
o | \\H C C
H H H/ \H
\
H
H\C o
(C) H—C C—H
C C—g
o \
H

(a) A and C are isomers of hexane and B is benzene.
(b) Ais an isomer of hexane, B is benzene and C is an isomer of hexene.

(¢) A is a saturated cyclic hydrocarbon and B and C are unsaturated

cyclic hydrocarbons.

(d) A is cyclohexane and B and C are the isomers of benzene.

31/1/2 —3= 5 =2 P.T.O.
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(a) NaHCO, () Na,CO,.5H,0

(© Na,CO,.10H,0 @ NaOH

3. WM Uk & Fd-1 ol S § HI0 T TN fomat Sirar 2 | 1= fean o i o1 w9 @
97 3% FoTq IErlt AEl @ 2

(a) STETdEEIdT

(b) I TR
(c) S ATARAT
(d) = fufsramiemar

4. = <& anoft § =R fafe foerai & pH SR 3hl whia (srfa/ariia) & an |
a1 @ A 7 | 39 areft o1 b 91 foehew wEl R 7

fererea e pH@w & | pHwiafeream | foemm
L T
() fig ™ raft 3 TR
() | fiee sife Axfiftrn e 10 ACaR)
@) S AT 6 A
@ G kil 7 I

5. MnO,+xHC/ - MnCl, +y H,0 + z Cl,
ITRH TERITe THIHTT 1 Hqfeld Hid o fIT x, y 3R 2 % M g M HAT:
(a) 6,2,2 (b) 4,1,2

c 421 @ 2,21
31/1/2 = 6 —3—



2.  Select washing soda from the following : 1
(a) NaHCO, (b) Na,CO,.5H,0
(¢ Na,CO,.10H,0 (d NaOH

3. Copper is used for making cooking utensils. Which of the following

physical properties of copper is NOT responsible for the same ? 1
(a) Malleability (b) High melting point
(¢) Thermal conductivity (d) High reactivity

4. The table below has information regarding pH and the nature

(acidic/basic) of four different solutions. Which one of the options in the

table is correct ? 1
Option Solution Colour of | Approximate | Nature of
pH paper pH value solution
(a) Lemon juice Orange 3 Basic
(b) Milk of magnesia Blue 10 Basic
(c) Gastric juice Red 6 Acidic
(d) Pure water Yellow 7 Neutral
5. MnO,+xHC/ — MnCl, +y H,0O + z Cl, 1

In order to balance the above chemical equation, the values of x, y and z

respectively are :
(a 6,22 b)) 4,1,2

© 421 @ 2,21
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6. The emission of brown fumes in the given experimental set-up is due to 1
W\
Brown —>\\§ \
fumes
Lead nitrate
Burner
(a) thermal decomposition of lead nitrate which produces brown fumes
of nitrogen dioxide.
(b) thermal decomposition of lead nitrate which produces brown fumes
of lead oxide.
(¢) oxidation of lead nitrate forming lead oxide and nitrogen dioxide.
(d) oxidation of lead nitrate forming lead oxide and oxygen.
7. In the experimental setup given below, it is observed that on passing the
gas produced in the reaction in the solution ‘X’ the solution ‘X’ first turns
milky and then colourless. 1
Dilute §
Hydrochloric Acid =
@:ﬁ Sodium
carbonate
The option that justifies the above stated observation is that X’ is aqueous
calcium hydroxide and
(a) it turns milky due to carbon dioxide gas liberated in the reaction and
after sometime it becomes colourless due to formation of calcium
carbonate.
31/1/2 3= 9 2 P.T.O.
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(b) it turns milky due to formation of calcium carbonate and on passing

excess of carbon dioxide it becomes colourless due to formation of
calcium hydrogen carbonate which is soluble in water.

(¢) it turns milky due to passing of carbon dioxide through it. It turns
colourless as on further passing carbon dioxide, sodium hydrogen
carbonate is formed which is soluble in water.

(d) the carbon dioxide liberated during the reaction turns lime water milky
due to formation of calcium hydrogen carbonate and after some time it
turns colourless due to formation of calcium carbonate which is soluble
in water.

8.  Select endothermic reaction from the following : 1
(a) Decomposition of vegetable matter into compost.

(b) Decomposition of calcium carbonate to form quick lime and carbon
dioxide.

(¢) Burning of a candle.

(d) Process of respiration.

9. Select from the following the correct statement about tropic movement in
plants : 1

(a) It is due to stimulus of touch and temperature.
(b) It does not depend upon the direction of stimulus received.
(¢) It is observed only in roots and not in stems.

(d) Itisagrowth related movement.

10. The statement that correctly describes the characteristic(s) of a gene is : 1

(a) In individuals of a given species, a specific gene is located on a
particular chromosome.

(b) A gene is not the information source for making proteins in the cell.
(c) Each chromosome has only one gene located all along its length.

(d) All the inherited traits in human beings are not controlled by genes.

31/1/2 == 11 -2 P.T.O.
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11. Consider the following statements about small intestine and select the

one which is NOT correct : 1

(a) The length of the small intestine in animals differs as it depends on

the type of food they eat.
(b) The small intestine is the site of complete digestion of food.
(¢) The small intestine receives secretions from liver and pancreas.

(d) The villi of the small intestine absorb water from the unabsorbed

food before it gets removed from the body via the anus.

12. An organism which breaks down the food material outside the body and

then absorbs it is 1
(a) aplant parasite, Cuscuta. (b) an animal parasite, Tapeworm.
(¢) a bacteria, Rhizobium. (d) a fungi, Rhizopus.

13. The resultant magnetic field at point ‘P’ situated midway between two

parallel wires (placed horizontally) each carrying a steady current I is 1
A > B
of
C > D

(a) in the same direction as the current in the wires.
(b) in the vertically upward direction.
(c) zero

(d) in the vertically downward direction.

31/1/2 == 13 -2~ P.T.O.
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14. An electric iron of 1500 W, 200 V and a flash light of 500 W, 200 V are

used in homes. The rating of fuse to be used should be 1
(a 5A ®b) 10A
(¢ 15A d 20A

15. In domestic electric circuits the wiring with 15 A current rating is for the
electric devices which have 1

(a) higher power ratings such as geyser.
(b) lower power ratings such as fan.
(¢) metallic bodies and low power ratings.

(d) non-metallic bodies and low power ratings.

16. If four identical resistors, of resistance 8 ohm, are first connected in series
so as to give an effective resistance R, and then connected in parallel so

as to give an effective resistance Rp, then the ratio R_S is 1
P

(@) 32 (b) 2

(© 0.5 d) 16

Q. No. 17 to 20 are Assertion — Reason based questions.

These consist of two statements — Assertion (A) and Reason (R). Answer
these questions selecting the appropriate option given below :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.
31/1/2 =3 15 -2 P.T.O.
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17. Assertion (A) : The strength of the magnetic field produced at the centre

of a current carrying circular coil increases on increasing the number

of turns in it. 1

Reason (R) : The current in each circular turn has the same direction

and the magnetic field due to each turn then just adds up.

18. Assertion (A) : The anaerobic respiration which takes place in yeast, has

one of the end products as an acid. 1

Reason (R) : During anaerobic respiration, there is incomplete

breakdown of glucose.

19. Assertion (A) : Genes inherited from the parents decide the sex of a

child. 1

Reason (R) : X chromosome in a male child is inherited from his father.

20. Assertion (A) : The colour of aqueous solution of copper sulphate turns

colourless when a piece of lead is added to it. 1

Reason (R) : Lead is more reactive than copper, and hence displaces

copper from its salt solution.

SECTION -B
Q. No. 21 to 26 are very short answer questions.

21. List two reasons to show that the existence of decomposers is essential
in an ecosystem. 2

31/1/2 == 17 -2~ P.T.O.



22. (a) Yo YV HT HIs el bl 451 XY fheft e & frsw ABC & 3m@ ¥ g9

23.

24.

25.

(b)

ITER T TET S
A

X B C Q

<8 St TR R R 3R T PQ e fard 3 e Pt e g 3
1 CIT |

707 sl ST STedt TRt 1 9 fefRau 37 3Heh 10T 1 Ieoig T |
FAoa

Ig SErT foha o 2 fob 3Ty | g 8F WX A1 shi Fohe ot e gt shi awgaii &l w1
3@ T 1 GHAT EE AT 2 |

Q) ST HUA & fore s dfra |
() sEIHRH! fRafa § = d B et Gurrfara < o1 Am fafaw |

(iii) 9 YhR T QY 7= 1 g¥ b H: T o foT 3w o S amet i
YhR i g o Tore Trmifera fertor s wifer |

TS IcasH a3 o 36 T o1 A1 forfae fras gaspro) o1e ST 2 | e it 9w 3R
37RT S Al |

fereht =g w1 fore@ fopet et bt hTer TR o, q & 3 St H garan A few e
fTera & fooram S 3o ¢ geit of | Afg 39 faerem 1 T @ 1 S @ @ % i Wehfd
o forear o 31ma R forsepe fepTet Tohd & ST I 2

IS < 39 34 ! faRge s 31 oA g foredt safeh it A1k & o % HUT <k Jaw
1 IR I TR 2 |
31/1/2

. .
e 18 e



o
E HH
22. (a) A narrow beam XY of white light is passing through a glass prism

ABC as shown in the diagram : 2
A

X B C Q

Trace it on your answer sheet and show the path of the emergent

beam as observed on the screen PQ.
Name the phenomenon observed and state its cause.
OR

(b) It is observed that the power of an eye to see nearby objects as well

as far off objects diminishes with age. 2
(1) Give reason for the above statement.

(i) Name the defect that is likely to arise in the eyes in such a

condition.

(i11) Draw a labelled ray diagram to show the type of corrective lens

used for restoring the vision of such an eye.

23. Name the part of the human excretory system where nephrons are found.

Write the structure and function of nephrons. 2

24. A knife which is used to cut a fruit was immediately dipped into water
containing drops of blue litmus solution. If the colour of the solution is
changed to red, what inference can be drawn about the nature of the fruit
and why ? 2

25. Write the sequence of events that involve response of a person when a

dust particle is inhaled through the nose by him. 2
31/1/2 == 19 - P.T.O.
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26. (a) (1) A compound X which is prepared from gypsum has the

property of hardening when mixed with proper quantity of
water. 9

Identify X’ and write its chemical formula.

(i) State the difference in chemical composition between baking

soda and baking powder.
OR
(b) Write balanced chemical equation for the reaction that occurs when : 2
(1)  blue coloured copper sulphate crystals are heated and

(11) Sodium hydrogen carbonate is heated during cooking.

SECTION - C

Q. No. 27 to 33 are short answer questions.

27. (a) (1) Why does a kitchen garden called an artificial ecosystem while
a forest is considered to be a natural ecosystem ? 3

(i) While designing an artificial ecosystem at home, write any two
things to be kept in mind to convert it into a self-sustaining

system. Give reason to justify your answer.
OR

(b) () Construct a food chain of four trophic levels comprising the
following :

Hawk, snake, plants, rat. 3

(1) 20,000 J of energy was transferred by the producers to the
organism of second trophic level. Calculate the amount of
energy that will be transferred by organisms of the third trophic

level to the organisms of the fourth trophic level.

31/1/2 3= 21 -2~ P.T.O.
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28. (a) (1) State the rule used to find the force acting on a current carrying
conductor placed in a magnetic field. 3
(1) Given below are three diagrams showing entry of an electron in
a magnetic field. Identify the case in which the force will be

(1) maximum and (2) minimum respectively. Give reason for
your answer.

Elefz\tron Electron
S >
Magnetic Magnetic —>EleCtr0§ Magnetic
field field . field
() (if) (ifd)
OR
(b) (1) Draw the pattern of magnetic field lines of 3

(1) a current carrying solenoid
(2) a bar magnet
(1) List two distinguishing features between the two fields.

29. A person is suffering from an eye defect in which the far point of the eye is
nearer than infinity. Identify the defect. List two main causes of this
defect. 3

Draw a ray diagram to show how this defect is corrected by using a
suitable lens.

30. (a) The image of an object formed by a lens is of same size but inverted.
If the object distance is 30 cm, calculate 3

(1) The distance between the object and its image.
(11) Focal length of the lens.
(b) Draw a ray diagram to show the image formed in above case.

31. (a) (1) State the role of ATP in cellular respiration. 3
(11) What ensures sufficient exchange of gases in plants ?

(ii1) State the conditions on which the direction of diffusion of gases
in plant depend upon.

OR
(b) (1) What is the internal energy reserve in plants and animals ? 3

(1) How desert plants perform photosynthesis if their stomata
remain closed during the day ?

31/1/2 —3— 23 -2~ P.T.O.
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32. Write the chemical composition of tooth enamel. Under what conditions of

pH it starts corroding ? Explain the reason of tooth decay and suggest one

method to prevent it.
33. (a) Identify the reducing agent in the following reactions : 3
@) 4NH,+ 50, - 4NO + 6H,0
@) H,0+F,— HF + HOF
(i) Fe,O,+ 3CO — 2Fe + 3CO,
@v) 2H,+ O, - 2H,0
(b) Define a redox reaction in terms of gain or loss of oxygen.
SECTION-D
Q. No. 34 to 36 are long answer questions.
34. (a) An electric iron consumes energy at a rate of 880 W when heating is
at the maximum rate and 330 W when the heating is at the
minimum. If the source voltage is 220 V, calculate the current and
resistance in each case. 5
(b) What is heating effect of electric current ?
(¢) Find an expression for the amount of heat produced when a current
passes through a resistor for some time.
35. (a) What happens when the egg is not fertilised ? 5
(b) How is sperm genetically different from a human egg / ova ?
(¢) List any three contraceptive methods practised for family planning.
Mention how these methods work.
31/1/2 —3— 25 -2 P.T.O.
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36. (a) A saturated organic compound ‘A’ belongs to the homologous series of
alcohols. 5
On heating ‘A’ with concentrated sulphuric acid at 443 K, it forms an
unsaturated compound ‘B’ with molecular mass 28 u.
The compound ‘B’ on addition of one mole of hydrogen in the
presence of Nickel, changes to a saturated hydrocarbon ‘C’.
(1) Identify A, B and C.
(1) Write the chemical equations showing the conversion
of A into B.
(111) What happens when compound C undergoes combustion ?
(iv) State one industrial application of hydrogenation reaction.
(v) Name the products formed when compound A reacts with
sodium.
OR
(b) (@A) With the help of diagram, show the formation of micelles, when
soap is applied on oily dirt. 5
(1) Take two test tubes X and Y with 10 mL of hard water in each.
In test tube X, add few drops of soap solution and in test tube
Y’ add a few drops of detergent solution. Shake both the test
tubes for the same period.
(1) In which test tube the formation of foam will be more ?
Why ?
(2) In which test tube is a curdy solid formed ? Why ?

SECTION - E
Q. No. 37 to 39 are case based / data based questions with 2 to 3 short
sub-parts. Internal choice is provided in one of these sub-parts.

37. Hold a concave mirror in your hand and direct its reflecting surface
towards the sun. Direct the light reflected by the mirror on to a white
card-board held close to the mirror. Move the card-board back and forth
gradually until you find a bright, sharp spot of light on the board. This
spot of light is the image of the sun on the sheet of paper; which is also

termed as “Principal Focus” of the concave mirror.
~L((/Concave mirror

Nz
> Principal
A~ | 5 \/\5 axis
<
Principal Focus
31/1/2 3 27 -3~ P.T.O.
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(a) List two applications of concave mirror. 1
(b) If the distance between the mirror and the principal focus is 15 cm,
find the radius of curvature of the mirror. 1

(¢) Draw a ray diagram to show the type of image formed when an
object is placed between pole and focus of a concave mirror. 2

OR

(¢) An object 10 cm in size is placed at 100 cm in front of a concave
mirror. If its image is formed at the same point where the object is
located, find : 2

(1) focal length of the mirror, and

(1) magnification of the image formed with sign as per Cartesian
sign convention.

38. In order to trace the inheritance of traits Mendel crossed pea plants
having one contrasting character or a pair of contrasting characters.
When he crossed pea plants having round and yellow seeds with pea

plants having wrinkled and green seeds, he observed that no plants with
wrinkled and green seeds were obtained in the F, generation. When the

F, generation pea plants were cross-bred by self-pollination, the F,
generation had seeds with different combinations of shape and colour also.

(a) Write any two pairs of contrasting characteristics of pea plant used
by Mendel other than those mentioned above. 1

(b) Differentiate between dominant and recessive traits.
(c) State the ratio of the combinations observed in the seeds of F,

generation (in the above case). What do you interpret from this
result ? 2
OR

(¢) Given below is a cross between a pure violet flowered pea plant (V)

and a pure white flowered pea plant (v). Diagrammatically explain
what type of progeny is obtained in F, generation and F, generation :

Pure violet flowered plant x Pure white flowered plant. 2

VV) v v)
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39. Almost all metals combine with oxygen to form metal oxides. Metal oxides
are generally basic in nature. But some metal oxides show both basic as
well as acidic behaviour. Different metals show different reactivities
towards oxygen. Some react vigorously while some do not react at all.
(a) What happens when copper is heated in air ? (Give the equation of
the reaction involved).
(b) Why are some metal oxides categorized as amphoteric ? Give one
example.
(¢) Complete the following equations :
@ Na,0y,+H,04 >
i) ALO,+ 2NaOH —
OR
(¢) On burning Sulphur in oxygen a colourless gas i1s produced.
(1) Write chemical equation for the reaction.
(i) Name the gas formed.
(ii1) State the nature of the gas.

(iv) What will be the action of this on a dry litmus paper ?

31/1/2 == 31 -2~
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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)
(ii)

(iii)

(iv)

(v)

(v)

This question paper consists of 39 questions. All questions are compulsory.

Question paper is divided into FIVE sections viz. Section A, B, C, D
and E.

In Section A - question number 1 to 20 are Multiple Choice Questions

(MCQs) carrying 1 mark each.

In Section B - question number 21 to 26 are Very Short Answer (VSA)
type questions carrying 2 marks each. Answer to these questions should

be in the range of 30 to 50 words.

In Section C - question number 27 to 33 are Short Answer (SA) type
questions carrying 3 marks each. Answer to these questions should be in

the range of 50 to 80 words.

In Section D - question number 34 to 36 are Long Answer (LA) type
questions carrying § marks each. Answer to these questions should be in

the range of 80 to 120 words.

(vit) In Section E - question number 37 to 39 are of 3 source-based/case-based

units of assessment carrying 4 marks each with sub-parts.

(viit) There is no overall choice. However, an internal choice has been provided

31/1/3
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SECTION - A

Select and write one most appropriate option out of the four
options given for each of the questions 1 - 20 :

1. The emission of brown fumes in the given experimental set-up is due to 1
N\
Brown — % \
fumes

Lead nitrate

Burner

(a) thermal decomposition of lead nitrate which produces brown fumes
of nitrogen dioxide.

(b) thermal decomposition of lead nitrate which produces brown fumes
of lead oxide.

(¢) oxidation of lead nitrate forming lead oxide and nitrogen dioxide.

(d) oxidation of lead nitrate forming lead oxide and oxygen.

2. In the experimental setup given below, it is observed that on passing the
gas produced in the reaction in the solution ‘X’ the solution ‘X’ first turns
milky and then colourless. 1

Dilute
Hydrochloric Acid

@:ﬁ Sodium
carbonate

The option that justifies the above stated observation is that X’ is aqueous
calcium hydroxide and

31/1/3 —3= 5 =2 P.T.O.
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(b) <Hfcaam FEME T % HRU I8 fIeA R &1 a1 8 3R Hred SRS &
TR T YaTiEd H W I8 TR hicHad gEgeH SeHe a9 Ial & S St o
NGRS

(c) THTEA STEIATHHTEE i YaT(Gd i o BRI AT (o T Bl ST 2 TUT 38k TRTd
IR 3freh N9 vaTfEd S T I8 Sifsad g8gIeH Srae B giafad & Sl & S i J
e B |

(d) rffsran o frepeft wreq geeTiaaTse T hicHs™ BTEENH HIEHE §74 & HRUT I &
AT o1 G L Gell @ AT HS HHY TR hicdH HEME S o HRUT (oo TR
Bl AT 3, Fifeh 98 U § gereiict 7 |

3. = & wh aroft § =R fafve faerAt & pH 3R 76 wpfa (st /&) < IR °
o1 @ A 2 | 39 wRoeft o1 i | fasher wE | 7

e e pHw @ | pH&w AR aq | foema &
il STl
(a) EIEGIRT Rt 3 RReap]
(b) | Toree 317w Arfifywn Frem 10 T
(c) SN ™ SIc| 6 T
(d) g A et 7 3=

4.  MnO,+xHCI — MnCl, +y H,0 +z Cl,
IHIRE TERIfS THIHTT <l Hqfetd i o fIT x, y 3R 2 % M EH M HUT:
(@) 6,22 ®) 4,1,2
(¢ 4,21 @ 2,21

5. freferfia i & o 1 e 9f
(a) NaHCO, () Na,CO,.5H,0
(¢ Na,CO,.10H,0 @ NaOH
31/1/3 - 6~
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(b)

(c)

(d)

[= 15
it turns milky due to carbon dioxide gas liberated in the reaction and
after sometime it becomes colourless due to formation of calcium
carbonate.
it turns milky due to formation of calcium carbonate and on passing
excess of carbon dioxide it becomes colourless due to formation of
calcium hydrogen carbonate which is soluble in water.
it turns milky due to passing of carbon dioxide through it. It turns
colourless as on further passing carbon dioxide, sodium hydrogen
carbonate is formed which is soluble in water.
the carbon dioxide liberated during the reaction turns lime water milky
due to formation of calcium hydrogen carbonate and after some time it
turns colourless due to formation of calcium carbonate which is soluble

in water.

3. The table below has information regarding pH and the nature
(acidic/basic) of four different solutions. Which one of the options in the

table is correct ?
Option Solution Colour of | Approximate | Nature of
pH paper pH value solution
(a) Lemon juice Orange 3 Basic
(b) Milk of magnesia Blue 10 Basic
(c) Gastric juice Red 6 Acidic
(d) Pure water Yellow 7 Neutral

MnO, + x HC/ - MnCl, + y H,0 + z CI,

In order to balance the above chemical equation, the values of x, y and z

respectively are :
(a) 6,2,2 ® 4,1,2
c 421 d 2,21

Select washing soda from the following :
(a) NaHCO, (b) Na,CO,.5H,0
(¢ Na,CO,.10H,0 (d) NaOH

31/1/3 == T =2~ P.T.O.
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6. Consider the structures of the three cyclic carbon compounds A, B and C

given below and select the correct option from the following : 1
H H
g L
H H
N o
H H
N c”
A - ~NH  ® g o
C C
H| | SH C G
\
H
(C) H—C C—H
C C—g
n’ \
H

(a) A and C are isomers of hexane and B is benzene.

(b) A 1is an isomer of hexane, B is benzene and C is an isomer of hexene.

(¢) A is a saturated cyclic hydrocarbon and B and C are unsaturated

cyclic hydrocarbons.

(d) A is cyclohexane and B and C are the isomers of benzene.
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7.  The following diagram shows the electrolytic refining of copper :
-+ £
Anode
Cathode
Acidified
copper
sulphate
solution
Anode mud
Which of the following statements is incorrect description of the process ?
(a) The impure metal from the anode dissolves into the electrolyte.
(b) The pure metal from the electrolyte is deposited on the cathode.
(¢) Insoluble impurities settle down at the bottom of the anode.
(d) On passing the current through the electrolyte, the pure metal from
the anode dissolves into the electrolyte.
8. Consider the following statements about small intestine and select the
one which is NOT correct :
(a) The length of the small intestine in animals differs as it depends on
the type of food they eat.
(b) The small intestine is the site of complete digestion of food.
(¢) The small intestine receives secretions from liver and pancreas.
(d) The villi of the small intestine absorb water from the unabsorbed
food before it gets removed from the body via the anus.
9. An organism which breaks down the food material outside the body and
then absorbs it is
(a) aplant parasite, Cuscuta (b) an animal parasite, Tapeworm
(¢) a bacteria, Rhizobium (d) a fungi, Rhizopus
31/1/3 —— 11 -2~ P.T.O.
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10. Which of the following metals do not corrode in moist air ?
(a) Copper
(b) Iron
(c) Gold
(d) Silver
11. Select from the following the correct statement about tropic movement in
plants :
(a) It is due to stimulus of touch and temperature.
(b) It does not depend upon the direction of stimulus received.
(¢) It is observed only in roots and not in stems.
(d) Itis a growth related movement.
12. The statement that correctly describes the characteristic(s) of a gene is :
(a) In individuals of a given species, a specific gene is located on a
particular chromosome.
(b) A gene is not the information source for making proteins in the cell.
(c) Each chromosome has only one gene located all along its length.
(d) All the inherited traits in human beings are not controlled by genes.
13. In domestic electric circuits the wiring with 15 A current rating is for the
electric devices which have

(a)
(b)
©
(d)
31/1/3

higher power ratings such as geyser.
lower power ratings such as fan.
metallic bodies and low power ratings.

non-metallic bodies and low power ratings.

—3— 13 -2 P.T.O.



E5E

=

14. = wded gfaeeh fad T &1 wfae 8 Q R, i gge Svft & wfsa foam o 2
e wem 1 v g R, 2 3R iRt 3% uredl # waifa foran @ fed weaem =1

R
FTelt ekl R R, 09 ST 8
P

(a) 32 M) 2

(© 0.5 (d) 16
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A > B

oP
C > D

(a) 3t feum = gran 2 forad om0 yanfga 1 @ 2
(b) AT SR T B R |

() TIR@RI

(d) FeateR = 6t TR A2 |

16. afe faa am w foreht wfeiaes & yarfed am-1 3 100% dfg i st 2, dF wife o &
B Teft afg =t wieraar 2t
(a) 100%
(b) 200%
© 300%

) 400%
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14. If four identical resistors, of resistance 8 ohm, are first connected in series
so as to give an effective resistance R, and then connected in parallel so

as to give an effective resistance Rp, then the ratio R_S is 1
P

(a) 32 (b) 2

(¢) 0.5 (d 16

15. The resultant magnetic field at point ‘P’ situated midway between two

parallel wires (placed horizontally) each carrying a steady current I is 1
A > B
ol
C > D

(a) 1in the same direction as the current in the wires.
(b) in the vertically upward direction.
(¢) zero

(d) 1in the vertically downward direction.

16. If the current I through a resistor is increased by 100% (at constant

temperature), the increase in power dissipated will be 1
(a) 100%
(b) 200%
(c) 300%
(d) 400%

31/1/3 == 15 -2~ P.T.O.
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Q. No. 17 to 20 are Assertion — Reason based questions.

These consist of two statements — Assertion (A) and Reason (R). Answer

these questions selecting the appropriate option given below :

(a) Both (A) and (R) are true and (R) is the correct explanation of (A).
(b) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(¢) (A)is true, but (R) is false.

(d) (A)is false, but (R) is true.

17. Assertion (A) : Genes inherited from the parents decide the sex of a
child. 1

Reason (R) : X chromosome in a male child is inherited from his father.

18. Assertion (A) : The colour of aqueous solution of copper sulphate turns

colourless when a piece of lead is added to it. 1

Reason (R) : Lead is more reactive than copper, and hence displaces

copper from its salt solution.

19. Assertion (A) : The strength of the magnetic field produced at the centre
of a current carrying circular coil increases on increasing the number

of turns in it. 1

Reason (R) : The current in each circular turn has the same direction

and the magnetic field due to each turn then just adds up.

20. Assertion (A) : Left atrium receives oxygenated blood from pulmonary

velin. 1

Reason (R) : Right atrium transfers deoxygenated blood to the right
ventricle, which pumps it to the lungs for oxygenation.

31/1/3 == 17 -2~ P.T.O.
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SECTION - B
Q. No. 21 to 26 are very short answer questions.

21. A plant hormone helps in bending of stem towards light. Name the
hormone and explain how is the movement achieved. 2

22. (a) (A1) A compound X which is prepared from gypsum has the
property of hardening when mixed with proper quantity of
water. 9

Identify X’ and write its chemical formula.

(i1) State the difference in chemical composition between baking
soda and baking powder.

OR
(b) Write balanced chemical equation for the reaction that occurs when : 2
(1)  Dblue coloured copper sulphate crystals are heated and
(1) Sodium hydrogen carbonate is heated during cooking.

23. Name the part of the human excretory system where nephrons are found.
Write the structure and function of nephrons. 2

24. Write the constituents of solder alloy. Which property of solder makes it
suitable for welding electrical wires ? 2

25. Why is damage to the ozone layer a cause for concern ? What steps are
being taken to limit this damage ? 2

26. (a) A narrow beam XY of white light is passing through a glass prism
ABC as shown in the diagram : 2
A
P

Y,

X B C Q
Trace it on your answer sheet and show the path of the emergent
beam as observed on the screen PQ.
Name the phenomenon observed and state its cause.
OR
31/1/3 ~3— 19 -2 P.T.O.
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(b) It is observed that the power of an eye to see nearby objects as well
as far off objects diminishes with age.

(1) Give reason for the above statement.

(i1) Name the defect that is likely to arise in the eyes in such a
condition.

(i11) Draw a labelled ray diagram to show the type of corrective lens
used for restoring the vision of such an eye.

SECTION - C
Q. No. 27 to 33 are short answer questions.

A chemical compound X is used in glass, soap and paper industries. On
treatment with ethanoic acid, it forms salt, water and carbon dioxide.

(a) Identify X.

(b) How 1is this compound obtained from brine ? Write the equations
involved.

(¢) State the number of molecules of water of crystallization present in
compound X.

(a) Identify the reducing agent in the following reactions :
(@) 4NH,+ 50, - 4NO + 6H,0

(i) H,O+F,— HF + HOF
(iii) Fe,0,+ 3CO — 2Fe + 3CO0,
(iv) 2H,+0,— 2H,0

(b) Define a redox reaction in terms of gain or loss of oxygen.

A student wants to project the image of a candle flame on a screen 60 cm
in front of a mirror by keeping the candle at a distance of 15 cm from its
pole.

(a) Name the type of mirror used.

(b) Also calculate :
(1) Magnification of the image produced
(1) Distance between object and its image

(¢) Draw aray diagram to show the image formation.
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State the role of ATP in cellular respiration.
What ensures sufficient exchange of gases in plants ?
State the conditions on which the direction of diffusion of gases
in plant depend upon.
OR
What is the internal energy reserve in plants and animals ?

How desert plants perform photosynthesis if their stomata
remain closed during the day ?

State the rule used to find the force acting on a current carrying
conductor placed in a magnetic field.

Given below are three diagrams showing entry of an electron in
a magnetic field. Identify the case in which the force will be
(1) maximum and (2) minimum respectively. Give reason for
your answer.

Ele’c\tron Electron
>
s Magnetic Magnetic > Electrm;l Magnetic
field field . field
@ @i1) (ii1)
OR
(1) Draw the pattern of magnetic field lines of

(i)

@

(i)

(1) a current carrying solenoid
(2) abar magnet

List two distinguishing features between the two fields.

Why does a kitchen garden called an artificial ecosystem while
a forest is considered to be a natural ecosystem ?

While designing an artificial ecosystem at home, write any two
things to be kept in mind to convert it into a self-sustaining
system. Give reason to justify your answer.

OR
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(1) Construct a food chain of four trophic levels comprising the
following :

Hawk, snake, plants, rat.

(i1) 20,000 J of energy was transferred by the producers to the
organism of second trophic level. Calculate the amount of
energy that will be transferred by organisms of the third trophic
level to the organisms of the fourth trophic level.

33. A person cannot see distinctly the object placed beyond 5 m from his eyes.
Name the defect of vision the person is suffering from. Draw a ray
diagram to illustrate this defect. List its two possible causes. Name the
lens used for the correction of this defect.

34. (a)

(b)

35. (a)

(b)
©

36. (a)

31/1/3

SECTION-D
Q. No. 34 to 36 are long answer questions.

Mention the role of the following organs of human male reproductive
system :

(1) Testis

(11) Scrotum

(i11) Vas-deferens

(iv) Seminal vesicle

What is Placenta ? State its function in a human female.

An electric iron consumes energy at a rate of 880 W when heating is
at the maximum rate and 330 W when the heating is at the
minimum. If the source voltage is 220 V, calculate the current and
resistance in each case.

What is heating effect of electric current ?

Find an expression for the amount of heat produced when a current
passes through a resistor for some time.

A saturated organic compound ‘A’ belongs to the homologous series of
alcohols.

On heating ‘A’ with concentrated sulphuric acid at 443 K, it forms an
unsaturated compound ‘B’ with molecular mass 28 u.

The compound ‘B’ on addition of one mole of hydrogen in the
presence of Nickel, changes to a saturated hydrocarbon ‘C’.

—3— 25 -3 P.T.O.
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(1) Identify A, B and C.

(1) Write the chemical equations showing the conversion
of A into B.

(111) What happens when compound C undergoes combustion ?
(iv) State one industrial application of hydrogenation reaction.

(v) Name the products formed when compound A reacts with
sodium.

OR

(b) (1) With the help of diagram, show the formation of micelles, when
soap is applied on oily dirt. 5

(11) Take two test tubes X and Y with 10 mL of hard water in each.

In test tube X', add few drops of soap solution and in test tube
Y’ add a few drops of detergent solution. Shake both the test
tubes for the same period.

(1) In which test tube the formation of foam will be more ?
Why ?
(2) In which test tube is a curdy solid formed ? Why ?

SECTION - E

Q. No. 37 to 39 are case based / data based questions with 2 to 3 short
sub-parts. Internal choice is provided in one of these sub-parts.

37. In order to trace the inheritance of traits Mendel crossed pea plants
having one contrasting character or a pair of contrasting characters.
When he crossed pea plants having round and yellow seeds with pea
plants having wrinkled and green seeds, he observed that no plants with
wrinkled and green seeds were obtained in the F, generation. When the

F, generation pea plants were cross-bred by self-pollination, the F,
generation had seeds with different combinations of shape and colour also.

(a) Write any two pairs of contrasting characteristics of pea plant used
by Mendel other than those mentioned above. 1

(b) Differentiate between dominant and recessive traits. 1
(c) State the ratio of the combinations observed in the seeds of F,

generation (in the above case). What do you interpret from this
result ? 2

OR

31/1/3 =3 27 -2~ P.T.O.
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(¢) Given below is a cross between a pure violet flowered pea plant (V)

and a pure white flowered pea plant (v). Diagrammatically explain
what type of progeny is obtained in F, generation and F, generation :
Pure violet flowered plant x Pure white flowered plant. 2

VV) v v)

38. Hold a concave mirror in your hand and direct its reflecting surface
towards the sun. Direct the light reflected by the mirror on to a white
card-board held close to the mirror. Move the card-board back and forth
gradually until you find a bright, sharp spot of light on the board. This
spot of light is the image of the sun on the sheet of paper; which is also

termed as “Principal Focus” of the concave mirror.
Concave mirror

N2
I ~——<_ [0 I
R \«\«‘G axis

Principal Focus

S
7

/l(

(a) List two applications of concave mirror. 1
(b) If the distance between the mirror and the principal focus is 15 cm,
find the radius of curvature of the mirror. 1
(¢) Draw a ray diagram to show the type of image formed when an
object is placed between pole and focus of a concave mirror. 2
OR
(¢) An object 10 cm in size is placed at 100 cm in front of a concave
mirror. If its image is formed at the same point where the object is
located, find : 2
(1) focal length of the mirror, and
(i) magnification of the image formed with sign as per Cartesian

sign convention.
31/1/3 3= 29 -2~ P.T.O.
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39. Almost all metals combine with oxygen to form metal oxides. Metal oxides
are generally basic in nature. But some metal oxides show both basic as
well as acidic behaviour. Different metals show different reactivities
towards oxygen. Some react vigorously while some do not react at all.

(a) What happens when copper is heated in air ? (Give the equation of
the reaction involved).
(b) Why are some metal oxides categorized as amphoteric ? Give one
example.
(¢) Complete the following equations :
@ Na,0y,+H,04 >
(i) AlO,+ 2NaOH —
OR
(¢) On burning Sulphur in oxygen a colourless gas is produced.
(1) Write chemical equation for the reaction.
(i1) Name the gas formed.

(ii1) State the nature of the gas.

(iv) What will be the action of this on a dry litmus paper ?
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